8 _ _ 6 _ 5 _ 4 _ 3 _ 2 1
V1.1 | PAGE:1/4 |NOTE: THIS DEVICE IS ROHS COMPLIANT. REVISIONS
SYM DESCRIPTION DATE | APPROVED | SYM DESCRIPTION DATE | APPROVED
A A
\ A A A
**CUSTOMER DRAWING FOR REFERANCE ONLY, SAMPLES APPROVAL ARE REQUIRED!! 351

— , \E_ _j/
C ﬁ t 2
COVER D S L)
SOFT RUBBER 2
COVER
ITEM A B C D
15PIN 39.10 42.55 20.90 | M12x1.25 SOFT RUBBER
26PIN 39.10 50.87 20.90 | M13x1.25 ITEM A B I
44PIN 39.10 64.59 20.90 | M14x1.25 15PIN 39.35 18.30 7.50
62PIN 39.10 81.05 20.90 | M15x1.25 26PIN 4767 18.30 7.50
78PIN 39.10 78.85 23.90 | M18x1.25 44PIN 61.39 18.30 7.50
62PIN 77.85 18.30 7.50
78PIN 75.65 21.30 7.50
HDBWJOOT—__—_
I_\, A: SCREW TYPE, #4-40
B: SCREW TYPE, M3
— 15: 15 PIN TOLERANCES UNLESS SIGNATURES DATE MODEL
MATERIAL: ABS+PC R i WHMMMS w\mmmu Mw Hw “M TTLE. {D-SUB WATERPROOF JACKET
L 62: 62 PIN SYMBOL| UNIT | SCALE NO.
L 78 78 PIN A | mm | 1/1 [APPROVALS HDBWJOOT—__—_
MMT CORPORATION
8 _ 6 _ 5 _ 4 _ 3 _ 2 1

TEL:(510)979-2188 www.mmtmachrone.com FAX:(510)979-2189




8 _ 7 _ 6 _ 5 _ 4 _ 3 _ 2 1
V1.1 [ PAGE:2/4 [NOTE: THIS DEVICE IS ROHS COMPLIANT. REVISIONS
SYM DESCRIPTION DATE_| APPROVED [ SYM DESCRIPTION DATE_| APPROVED
A A
A A
**CUSTOMER DRAWING FOR REFERANCE ONLY, SAMPLES APPROVAL ARE REQUIRED!! 351

_._._ Jw -
i T
#4-40UNC OR M3 i o
(OPTION) ||
46.3
SCREW2
WASHER 2 (X2)
MATERIAL
BODY: GLASS FILLED THERMOPLASTIC.

FLAME RETARDANT TO UL 94V—0,COLOR BLACK. IS e SIGNATURES DATE MODEL
SCREWS: BRASS 100U” MIN SN OVER 50U" MIN NICKEL. £0.38 DRAWN _ MRON | 25/FEB/12|TTLE g5 waTERPROOF JACKET
CLIMATIC: TEMPERATURE RANGE —55'C~85'C. CHECKED  PEGGY | 23/FeB/12

SYMBOL| UNIT | SCALE NO.
WATERPROOF RATE: IP67 /\ | mm | 1/1 |APPROVALS HDBWJOO1—__—_
MMT CORPORATION
8 _ 7 _ 6 _ 5 _ 4 _ 3 _ 2 1

TEL:(510)979-2188

www.mmtmachrone.com FAX:(510)979-2189




8 _ 7 _ 6 _ 5 4 3 _ 2 1
V1.1 | PAGE:3/4 |NOTE: THIS DEVICE IS ROHS COMPLIANT. REVISIONS
SYM DESCRIPTION DATE | APPROVED | SYM DESCRIPTION DATE | APPROVED
A A
A A
**CUSTOMER DRAWING FOR REFERANCE ONLY, SAMPLES APPROVAL ARE REQUIRED!! 351
1 %
7
HARNESS SCREW < @
e T Vo b
— A %
— o C
W WASHER 1
A
WASHER 1
ITEM A B c
15PIN | 9166 | 9115 1.20
HARNESS SCREW 26PIN | #166 | 9125 1.20
ITEM A B c MPIN | #9176 | 9135 1.20
15PIN 29.00 | 1500 | M12x1.25 6PN | 9186 | 9145 120
26PIN 29.00 | 1500 | M13x1.25 8PN | 9216 | 9173 120
44PIN 29.00 | 1590 | M14x1.25
62PIN 29.00 | 18.60 | M15x1.25
78PIN 29.00 19.50 M18x1.25 TOLERANCES UNLESS SIGNATURES DATE MODEL
OTHERWISE SPECIFIED ,
MATERIAL: ABS+PC +0.38 DRAWN AARON 23/FEB/12' | TTLE | SUB WATERPROOF JACKET
/\ | mm | 1/1 |APPROVALS HDBWJOO1—__—_
8 7 _ 6 _ 5 _ 4 _ 3 _ 2 1

TEL:(510)979-2188 www.mmtmachrone.com FAX:(510)979-2189




8 _ 7 _ 6 _ 5 _ 4 _ _ 2 _ 1
Vi1 | PAGE.4/4 [NOTE: THIS DEVICE IS ROHS COMPLIANT. REVISIONS
SYM DESCRIPTION DATE | APPROVED | SYM DESCRIPTION DATE | APPROVED
A A
A A
*%CUSTOMER DRAWING FOR REFERANCE ONLY, SAMPLES APPROVAL ARE REQUIRED!! 357
YW,
PLASTIC NUTS L |
SOFT RUBBER 1
PLASTIC NUTS SOFT RUBBER
TEM A B c D E TEM A B C
15PN | 14.60 | 1350 | 1280 | M12x1.25 | 6.85 15PN | 8.80 6.80 7.00
26PN | 1520 | 1380 | 12.80 | M13x125 | 7.50 26PIN | 9.80 7.80 7.00
MPIN | 1630 | 1430 | 1280 | M14x125 | 8.90 44PIN | 1080 | 880 7.00
6PN | 1730 | 1530 | 1280 | M15x125 | 9.85 62PN | 1180 | 9.80 7.00
78PIN | 2180 | 2060 | 1280 | M18x1.25 | 11.65 78PIN | 1380 | 1180 | 7.00
TOLERANCES UNLESS SIGNATURES DATE MODEL
OTHERWISE SPECIFIED ,
MATERIAL: ABS+PC +0.38 DRAWN AARON 23/FEB/12' | TTLE | SUB WATERPROOF JACKET
/\ | mm | 1/1 |APPROVALS HDBWJOO1—__—_
8 7 _ 6 _ 5 _ 4 _ _ 2 _ 1

TEL:(510)979-2188 www.mmtmachrone.com FAX:(510)979-2189




8 | 7 |

6

4 _

3

2

1

V1.1 INOTE: THIS DEVICE IS ROHS COMPLIANT.

REVISIONS

SYM

DESCRIPTION

DATE | APPROVED

SYM

DESCRIPTION

DATE

APPROVED

A

A

A

A

**CUSTOMER DRAWING FOR REFERANCE ONLY, SAMPLES APPROVAL ARE REQUIRED!!

TOLERANCES UNLESS SIGNATURES MODEL
+0.25 — WATERPROOF DB ASSEMBLY DRAWING
SYMBOLT UNIT T SCALE CHECKED AARON 23/DEC/14 NO.
A\ mm 4/1 |APPROVALS DBWJ
MMT CORPORATION
8 7 _ _ 5 _ 4 _ 3 _ 2 1

TEL:(510)

6
979-218

8 www.mmtmachrone.com FAX:(510)979-2189




